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QUESTION 1

Which of the following may be used to document the outcomes of a workshop?
A. Mind maps.

B. Brainwriting.

C. Round robin.

D. Stepwise refinement.

Correct Answer: A

QUESTION 2

A process model has been produced which includes diamond-shaped symbols. What does this diamond-shaped symbol
represent in the model?

A. A document.

B. An event.

C. A manual process.
D. A decision.

Correct Answer: D

QUESTION 3

In which stage of the business analysis process model would the business analyst produce a business case?
A. Evaluating the options.

B. Analysing the needs.

C. Defining the requirements.

D. Considering perspectives.

Correct Answer: A
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QUESTION 4

What does the M stand for in MoSCoW?
A. Mission.

B. Must have.

C. Management.

D. Mandatory.

Correct Answer: B

QUESTION 5

The Boston Box may be used to analyse the portfolio of businesses owned by an organisation. Which of the following
animals does it use in its term for businesses that have low market share in a market with low growth?

A. Cow.
B. Cat.

C. Dog.
D. Goat.

Correct Answer: C
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